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	Angles and Circles
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	Working MUST be shown in every answer.

	

	1.
	Find the size of angles a to i  in the diagrams below. In each case, O is the centre of the circle.
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	PS is a tangent
	
	PS and PT are tangents

	
	
	

	2.
	Calculate the length of chord AB in each circle below.

	
	
	
	
	

	
	a)
	



6.9

3.7

B
A



	b)
	4
11


	

	Turn over for Questions 3, 4 & 5.




	3.
	In the circles below, find x , y and z  accurate to 1 d.p.

	
	

	
	x
16cm
24cm
C
B
A

	y
15mm
C
B
A

	17cm
z
8cm
B
A


	
	AB is a diameter
	AB is a diameter
	AB is a tangent

	
	

	
	

	
	

	4.
	10cm

	A square with sides of 10cm is drawn inside a circle.

	
	
	

	
	
	The diagonal of the square is the diameter of the circle.

	
	
	

	
	
	Find the area of the circle.

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	

	

	5.
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	A waste pipe from an oil refinery has a radius of 200mm. 
	200mm

120mm


	
	
	
	

	
	
	The pipe is partially filled with oil, to a depth of 120mm.
	

	
	
	
	

	
	
	Find, to the nearest mm, the width of the surface of the oil.
	

	
	
	
	

	
	
	
	

	
	
	
	





	Q.
	Award 1 Mark for each ●:

	
	

	1.
	a)
	● 25°
	b)
	● 180° - 25° x 2
	c)
	● (180° - 152°)  2

	
	
	
	
	● 130°
	
	● 14°

	
	
	
	
	
	
	

	
	d)
	● 90°
	e)
	● 180° - (90° + 57°)
	f)
	● 90° - 62°

	
	
	
	
	● 33°
	
	● 28°

	
	
	
	
	
	
	

	
	g)
	● 90° - 41°
	h)
	● 90° - 41° OR 
	i)
	● 180° - (90° + 36°) = 54°

	
	
	● 49°
	
		(180° - 82°)  2
	
	● 90° - 54°

	
	
	
	
	● 49°
	
	● 36°

	
	
	
	
	

	2.
	a)
	● x2 = 6.92 – 3.72
	b)
	● x2 = 112 – 72

	
	
	● x2 = 33.92
	
	● x2 = 72

	
	
	● x = 5.824087911….
	
	● x = 8.485281374….

	
	
	● AB = 2 x 5.824087911….
	
	● AB = 2 x 8.485281374….

	
	
	● AB = 11.6cm (do not award if rounded prior to this stage)
	
	● AB = 17.0cm (do not award if rounded prior to this stage)

	
	
	
	
	

	3.
	a)
	● x2 = 242 – 162
	b)
	● y2 = 152 + 152
	c)
	● cosine ratio used

	
	
	● x2 = 320
	
	● y2 = 450
	
	● z = cos-1 (8/17)

	
	
	● x = 17.88854382…
	
	● y = 21.21320344…..
	
	● z = 61.92751306…

	
	
	● x = 17.9cm
	
	● x = 21.2mm
	
	● x = 61.9°

	
	
	
	
	
	
	

	4.
	● d2 = 102 + 102

	
	● d2 = 200

	
	● d = 14.14213562…

	
	● radius = 7.071067812…

	
	● Area =  (7.071067812…)2

	
	● Area = 157cm2

	
	

	5.
	● x2 = 2002 - 802

	
	● x2 = 33600

	
	● x = 183.3030278…

	
	● Width = 2 x 183.3030278… = 366.6060556…..

	
	● Width = 367mm

	
	

	
	

	
	

	
	

	
	Total = 50 marks
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